EARAROBEEIERT — 2 N— IBISH —F

2013558198 (B) SEMAEA4H

m C1—3# C1 ¥5%3m% Lt ‘ [X%&] ™ ‘ (] — | & (%) 14000 R
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o - . EC) : i-1- _ WEFEA ((£2)
W ~v1x759va i 4 s 1.(3_0).9 1-1-1-1 | 40.0 4 ig? elshare =1
R:TTRAFTEN B:UXYLTTvTa RIS
N HHIEE : -3-3- = ekt (1£8)
olsl5 | PP/ TIUZR i 6 a5 1(73}:5) 3-3-3-2 | 39.7 6 (4+537) s i
L:ZFAd=IK B:oryated Fif  HEER
S 5 6 | BKERE 1:31.7 8-8-5-5 |39.7| — 1 533 | KB#Ek (1£5)
3PN 4 T=I—-3% L3 56.0 (4) (o) | 18) A= .
LHIINTS - BiFRLACAFIX ERHS
RSN . BEE—ER : 76— — JIIBZLF (£8)
al7lo | EFnT170—2 i 4 sl (17.3;% 7-7-6-6 | 39.9 8 (4_215) R
L:rh—> B:TFTHY IN=tie]
N = . BEA— :32. 02— . — ABFR (£8)
50811 O Y42 rS54 K H o4 =5 15'322)1 2-2-2-3 41.0 5 (5_219) %ﬁ)*’é}i{%ﬁ
X:a-T>J)> B:X&Z-F2R FE RIE
N 0 I~ & :32. —4-4~ . — BARBRE (EH)
61810 7L 77/XR SRR 1(5/24)3 s 410 ° ?_913) nEEE
LZZXHRL R B v —IN) VDAY ¢
7 5| A HR—o X B 7 E%i_ﬂoﬁ‘si 1:(322>.7 10-9-7-7 | 40.6 | — 2 496 ?@%?# (E®)
QRAIZHr—2 B:UT RETR #0) | aiapsg
. . AIMES : -11-11- — SHEE (E8)
sl7lg|=nHove i 4 i 1.(323).1 9-11-11-9 | 40.0 9 <4+231) 8
LNTUXFTrH—L B:yhtex BHE ®E
— . i 4 | BREA 1:33.2 1-10-9-8 | 41.0 | — 1 436 | EE—K (ER)
9 6|l T A-L> 54.0 (1/2) +3) (#) ;;y?
L7274 BIYVRLRY =RBANS
— g3 it 4 | RIAEK 1:33.5 5-5-10-11 |41.5| — | 10 | 438 |/lIEZ4F (&)
10 3 T/'b‘/7\7('3l 54.0 (1 1/2) -2) SEHFEIER
L:TANRTy>Ya BIXNSATH RS
— . R . —6-8— — hEFE ((£%)
R = it 5 e 1.(3;4).2 6-6-8-10 | 42.5 7 (i??) z;z%L—E
RNSHEART )=y BT3RS BEXZY K
@ 1 — S —EBlIEf
13=7r= 7,11,5,10,3,1,9,4,8,2,6
2=1—F— 7,11,5,10,3,1,9,4,2,6,8
Gal=5r= 7,11,5,10,4,9,2,1,6,3,8
40—+ — 7,5,11,10,4,9,2,6,8,1,3
[ N3
BB 7 700M 714K 5-7 2,310 % E 5-6 6,940M 3EHE 4-5-7 6,200/
8 B 7 350M 4-7 1,300M B & 5-7 4,700M K31 7-5-4 109,030
5 220M 4-5 450 B H 7-5 20,4004
4 120

ABICOVWTRDTEEERROODE. TR LIV,




